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1. mmﬂﬁﬁﬁ%ﬁﬂﬁﬁgm

1ﬂﬂéﬁaﬂmﬁﬂm%,a}%qﬁﬁ
7g T & SR 7

(Ay 15
(B) 20 a9
(C) 259
(D) 3o=d

2t e Tt & Sl & S o @ g

{
(B) (243-7)
(ve-

% o7 TrEft Heen el wielt & v Fme
| oiefl &, T o g

(A) e ® wEt

(B) ®Ha & B

(C) e, forer=ft =

(D) wme ® B

'._i{ﬂ—zw’ﬁ) %1 e &

(A) (2-+3)

J6-+2)

e - =

{CJ

1-

On a fixed rate of simple interest an
amount is doubled in 10 years. In how
many years will it be tripled ?

{A) 15 years
(B) 20 years
(C) 25 years

{0} 30 years

If Shalga is taller than Rakhi but
shorter than Prerna and Rakhi is as
tall as Meghna but taller than Komal,

then Meghna is

(&) Taller than Shaloo
(B} Shorter than Komal
{C) As tall as Shaloo

(0} Sharter than Shaloo

The square root of (8- 4V3)is
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nts on a Circle

4. ﬁA.E‘Eﬁqﬁqﬁﬁqﬁ:&ﬁ IlA,E,EarethrsePﬂi 0B = 90°
foraeR %= O & 91 £AOB=90° T8 with centre O such that £A ey &
/BOC =120° & 7@ £ABC =t 2 and #BOC=120° then £

o aqual to
(A) 60 b &
(B) 75° 8) 75°
(C) 807 (c) 90°
(D) 135° (D) 135°

5. B4 & 21 wen ot 594 8 W W _ The smallest number that should be

ﬁ‘TWTﬁ =l &7 =, 2 added to 594, so that the sum IS a
perfect square

(A) 1 (A) 1

(B) 5 (B) 5

(C) 25 (C) 25

(D) 31 (D) 31

6. T T WY WA § U § | 309 You are working in a research lab. One
aefedt 8 T 3 S0 €F W H A= of your subordinates has done some
= B & ik T w5 v Wit uhi good work on llxer :l::wn_and the \I'l.r!:l!'il: is

worthy of publication in a prestigious
# s 55 0 & 1 o A 2 journal. What will you do ?
(A) E HHE T T B (A} Will take all the data and publish
in your name .'
(B) Sndfieer & Sl 3 ST T 0 (B) Will ask the subordinate o add
e 3 fore w8 your name as one of the authors
(C) s andies =) Wkt e S T (C) Willtell your subordinate that
! TS TG R A, AN unless you are made a co-author,
38 Y gl F H e T you will not allow her to publish
Gl the paper
(D) #fea Hi 39 g9 W W gEE (D) Will encourage the subordinate
#4 % fero, drearfim =60 to publish on her own
2-D : (4]

U
L] ¥ i
"
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Fasare
i
ﬁ'& T T ﬁ ™
ﬁ % H §17 52 a=n 7. Inthainllnwingquesﬂmn,mustatemenis
ﬂ'ﬁﬁﬂt ENRGERCEAR-TE e Y S1 and S2 are given followed Dy tWo
#1 S2 = T eI 7 Foo o o oo conclusions 1 and 1l. Taking the two
© : statements 51 and 52 as lrue, decide
. (B): (C) 7= (D) ¥ Fa T which one of the answer (A), (B), (C)
ﬂﬁﬁ = # frem 2 ¢ and (D) logically follows e
e -
Statements :
§1 cwh BT S g1 : Al pens are chalks.
s2 @t il = 2 | g2 : All chairs are chalks.
Fred Conclusions :
| F6 0 HEE T |. Soma pens are chairs.
I, &% =5F W 1 Il. Some chalks are pens.
A) Cnly |
(A) e | (A} Only
(B) Only I
(B} & I
(C} Either | ar I
(Cy =wat =il
(D) Nelther | nor I

J-D [5]
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8. = wpet S aremefi i o wde A

e
8. Candidates of four schools ﬂppg. rin
ata 15 as

&3 3 | Py amm e R

a malhematics tesl whose d

follows :
srfefe = o Ne. of Ayerage
b HEA i Schoel Candidates| Scor€
ki a9 50 v 40 50
e TR T & anafda i e 66 If the average score of the candidates

B, 1w ||| & 3 srafial i wen x

of all the four schools is 66 then the
number x of candidates appeared from

(A) 60 scheol lll is
(B} 55 (A) B0
(B) 35
Ve () 50
(D) 52 (D} 52

9, HAE-UERT § T g § -t Purposely manipulating information in
] A B communication is called
(A) T (A} Flitering
(B) mfEm (B} Asserivensss
(C) [e=er (C) Deviance
(D} g D) Abslraction
2-D [6]
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r'"

% *‘qﬁﬁ’x’saﬂtzﬁ&ﬁﬂﬁﬁg | 10. A, P, A, X, Sand Zare sitting in a row.
| g3k Z FRABTN AN PERRE | Sand Zare in the centre, Aand Fare
" atthe ends. A s sitting on the leftof A
R T Y Who is sitting on the right of P?
SeECil
Al A (A) A
t
B) S (B) 8
(C) X (C) X
0y Z D) Z

11. A man can row a boat 20 km in 2 hours

11, mﬁmﬂﬁwﬁﬂaﬁﬁﬂﬂm
iy in down stream and 4 km in 2 hours

: 4 faerft 2 52
2w # gyr UM & Eﬁlﬁﬁﬁ g in upstream. The speed of rowing the
i s wep & | R boat in still water will be
T ife v
. (A) 4 km/h
(A) 4 fst/g
6 km/h
(B) & femdi /g #l
(C) 8km/h
(C) 8 fedft/g
N— (D) 10km/h +
10 - aiae
e ==
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12. Which of the terms of the two series -

12, =Fi smid whm densi = A
63, 65, 67, ... 31 3, 10, 17, ... % #-A 63, 65, 67, .. and 3,10, 17, ... of
T w1 WA 9 B 7 ascending numbers are equal ?
(A) 12 (A) 12
(B) 13 (B) 13
(C) 14 (C) 14
(D) 15 (D) 15

13, TR i, 9 v He 13. Inaseminar the number of participants
uferifri i dem 45, 751 1352 | in English, Urdu and Sanskrit are 45,
4 ToEifaE =0 % R seves = 75 and 135. What is the number of
&1 e = e, af vl wa # rooms required to house them, if the
sfcaifirdi < w@n qen s wwE w7 number of the participants in a room

and their language are same 7

(A) 17
(A) 17
B) 255
® (B) 255
10 65 (C) 65
) e (D) 135
2-D (8] T
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14.

15.

v i, Temreh S 8.4 1 f, sf sem
= T 2.1 4.9, 2, 0t e ush 11
4T AR | T 6 = g

(A} 4.2 %5,
(B) 2,14,
(C} 2.4 %41,

(D} 1.6H.1.

s i A, B, C, D, E3 F 1§ § vl o
s afieqT F 7erT-3eR 3 T R | C
Y Asfr E % wfus o wa fww 1 D A
*ad B Wi o W fee | E9 wE
1 3w 4 T | P afeam W
et T T 3 T fRe IE3 81
WﬁﬁqlEﬁﬁE:ﬁwﬁmlrsﬁ:

14.

15.

A cone of height 8.4 ¢m and the radius
of its base as 2.1 om, is melted and

racasted into a sphere. The radius of

zphere is

{A) 42¢cm
(B} 2.1¢m
(Cy 2.4 cm

(D) 1.6cm

Each of the six friends A, 8, C, O, E
and F scored different marks in an
gxamination. Cacored more than only
Aand £ O scored less than only B.
E did not score the least. The one
who scored the third bighest marks

scored 81 marks. E scored B2 marks.

C's possible score is

YA HF & B 7o
{A) 70

(B} 94
(B) 94

(C) 86
(C) 86
(D) 61 (D) 81

[9]
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16.

17.

FTH I S R e T s i, Py
R AR T 7 sy o o ) am
HH FAT TR I | A W A 7

(A} 39 9 W 7R % fF 50 =@ wm =
T ¢ il 78 AThY A7 =
HH= 2

(B) 38 == %47 Hiifr 92 Fam =g

T T 8, iy =) fam o wm
Eac -

(C) =M # w5in Gugrd 3t g6
HErdl * o oh meme S

(D) 308 =81 fF el s Fm R 3 5
fom, 5 o ferdosn <7 =ft wEm
1, AT == =

Az (x-1), 4x° + 35 — dx + kT TF
TUETE §, 6t kR AW B

16. You assigned a new piece of work tg

a junlor who objects 1o it saying that
sha does not know how fo do it. What
would you do ?

{A) Insist that she has to do it as it ig

a matter of office discipline

(B} Force heras she is merely making
an axcuze, o she has to do the

assignad work

{C) Explain the nature of task and give

her an assistant to help her

(D) Ask her to discuss with youl,
whete she lacks the knowledge

Or axpertise to tackle the task

17. If{x—1}isafactorof 4x®4 8x% _4x4 &

than the value of ks

A) 3 (&) 3

(B) 4 (B) 4

(C) -3 () -3

(D) —4 (D} -4
2-D

[10]
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F"

@

8 o § T # o i B 7 A0, 8, 18. In the given figure, the radius of

£BAO =25° T £BCO =358 | circle Is 7em and £BAO = 25°,
iﬁéﬁ OADC %1 #F% /BCO = 35° then area of sector
OADC Is

(A =2 sq.om
9
(E) 308 i .. (B) @m,ﬂm
3 3
154 154
© —=- =l # AL (€) —3-sacm
19. |f246+«2=6, 8703 =11, then the
.0-§, 870+3=11,7 73675
- qﬁazz 68 value of 735+5 is
= HH
i il (&) 18
& (B) 3
3
) s (C) &
o) (D) 12
12 L[ S—
';_E‘— [11]

/ 4
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M'-\..
= iangles in the below
_ sty # fngel 6 e 2 20. The numher_nf triang
el il given figure is
Ly |
. 4
N
(A) 36 (&) 36
(B) 35 (B} as
{C) 34 {C) 34
(D) 3z D) 32
21. U WE AF W 4 el ufy o oy 21. A student walks from his house with g
@ o & 3 e 5 e G Speed of 4 km per hour and reaches his
SEEA 2 | A I T 5 Rt vy e sehool late by 5 minutes, If his speeg
B, 1 9% 10 fie w2 v w2, v ad been 5 km per hour then he woulg
o ¥ T 9 = § have reached 1p minutes garly, The
distance of schog| from his housge is
(A) 3T '
(A) 3 km
B) 5 fdi
(B) (B) 5 km
(C) & fari (C) & km
!
(D) 4 feril ' (D} 4 km
2-D [12]
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Fa
"u.-
W

22-

g
%

ﬁﬂﬁﬁﬁﬁuﬂﬁkmmﬁ’ﬁ
gt A0 A A2 A 9B # | v
3 wfeena i "En B

(A) 5
(B) @
() 7
(D) 10

it freraes Tt et gy 30
afy A vt geui = 1 e o
3N B Tt Tt T % wg= i Frefim
o & 3 C wd 7o fiewaew &
wg= i PRl e &, 9 39k gees
%+ fore Wt atE @

22. There is a tamily consisting of a
hushand and wife, their three 30ns,
two daughters and three wives of
three sons. Nurmber of women in the
family are

(A} 5
(B) 6
(C) 7
(D} 10

23. Most guitarists are bearded males.
lf A represents the set of all males,
B reprasents the set of all bearded
males and C represents the set of
all male guitarists. Then the correct
diagram for thair relations is

(B)

(C)

(D)

[131]
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24,

4t 4t PRS, TWY, XBE, BGK, 7
B W W (7) % o ad famey g |
(A) FLQ

(B) ELP

(C) ELQ

(D) FLP

M A B A R F o w o
FEAMARE | A= et T
Eﬂm#m—maﬁaﬁﬁw‘q{m
Eir%ﬂﬁn}mﬁﬁamm&%ﬁ":rﬁ-—rfm
ﬂﬁﬁq-mmﬁwﬁﬁ?

(A) ¥ Ten e
(B) Wiz Wiz awh s
(C) i mrom

(D) =i s = % forw vy
el

mﬁﬁmqﬁa\amﬁ:ﬁﬁ@ﬁﬁ%ﬁ
mmﬂm‘lﬁaﬂﬁmmg.m
w0 wfafewan dnfi 5

(A) 9T B g 3

(B) waier & fawa # you fimmfi;
| forwmg i

(C) :ﬂhmmﬁﬁg?ﬁan%mmﬁﬂ
HEHL T A0 i

(D) =ahrii arm fom iy e
A - HEATE W T

2-D

24. Select the correct alternative for
missing term (?) in the series.
PRS, TWY, XBE, BGK, 7

(A) FLQ
(B) ELP
(C) ELQ
(D) FLP

25. You are attending a meeting on the rise
of bad elements in your district. The
meeting is continued with good lighting
arrangement as well as with proper air
F:nnd'rtinning &tc. Which of the following
15 not a barrier to the communication 7

AT Noisy atmosphere
B Congested space

T Improper medium

(D) Asking questions 1o get clarfication

26. Youhave been fired
for your act of taking
prior info rmation,
reaction 7

(A)

from the com

long leave without
What will be your

Send your resignation

(B) Complaintg the h

igher authoriti
about firing e

(C) Request the authorities 1o give g
last chance after reconsidering

(D) Go on hunger strike il

taken back PR

[14]

e ————
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i, 7 el 2 T B, KAVERI 1 vaK|RE

for =T &, T MY SORE %1 2 55 Sy
F foa AT

(4] EROSYM
(B) SYMROE
() SYMECR

-

)

o8, F7 FEmml W T wAT: 490 R,

585 TR T BEEﬁ:ﬂTW%I 0
A (i) B afawm e =R

27.

28.

It in a certain code, KAVERI is written
as VAKIAE, then in the same code
MYSORE will ba writtan as

(A} EROSYM

(B] SYMROE

(C) SYMEOQR

(D) MNone of these

Three farmers have 480 kg, 588 kg
and 882 kg of rice respectively. What

is the maximum capacity of a bag s0

. that all the rice can be packed in bags
i Tt e TAE R o g A having equal weight 7 -
WA 7
{A) 9B kg
(A) 98 fm
(B} 200 kg
(B) 200 fem
{C) 280 kg
(C) 290 fm
— (D) 350 kg
— . m ?%4 Ef;{% PR
. S vMERh
¥ f ?
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29,

30.

Torell W =) 32 @ i 3 o7 S 29
®, T B E w2 W Syws 2

F.Q.R, 8 TR U =% =i ws 99 &
U WY A H R | I dw g/
AT HEC S s im e E | P g R
T Al e § aur e e
€1 %m Q, T3 U S s R |
=& WIHTERT T8 S AR i e, 2

A5
(B) U
cy P

im T

29,

30.

A number when divided by 32, the
remainder is 29. The sama whan
divided by 8, the remainder is

(A) 1
(B) 2
© s

D} 7

F.Q R S Tand J are s5ix persons
travelling together in a boat. Three of
them Q. R and Targ women and rest are
men. A, Q Rand T are all vegetarians

and others gre non-vagetarans, Only
Q, Tand U know the swimming, The

non-vegetarian male who does not
know Swimming is

(A} &
(8) U

(G P
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q &b CdIMeT AR qy | 3. Itthe mean of &, b, ¢, dand eis 28 and

HrﬂamEHmzqtﬁbaﬂtd memanufa,sandemzdthanthﬂ
o A B mean of band dis

(A) 31 (A) 31

(B) 32 (B) 32

(C) 34 (C) 34

(D) 33 (D) 33

32. If'+ means «' (multiplication), = means

R afe A K (TVE), =P ER
+ (R, o 1 o+ () 3
e et () B, T P

Hﬁlaqwﬁi#ﬂﬂﬂﬂﬂﬁﬁ?

_1/'7 5 .3-26 (A) 18+6—-4x2+3=26
A) 1B+68—-4xe2+93=

(B) 1B+6+4-2+3=22

+ (division), ‘x' means '+' (addition) and
‘+' means = (subtraction). Then which

of the following equation is correct 7

B) 18:6+4-2+3=22

(C) 18-6x7+2+8=863
C) 18-gx7+2+8=63

(D) 18xB6-4+7x8=
D) 18xg—4+7x8=47 gl

_— (171 = -+ =5

(¥ Scanned with OKEM Scanner



-

33.

AN TF WSS I 1 Al w5
0w R 1 s w2 ai
@ﬁﬁn‘h@ﬁﬁmmm% |
T T TR A s ) a
SRS AR | 9w w7

(A) 9= & = &

(B) awwewm e w afiwig o0 o Sifom
Loy

(C) ﬂﬁ!ﬂﬁmmaﬁmﬁﬁl:‘m&?ﬁ
I e

(D) wEuA Hfifa %t g e s

33.

You are working as a senior manager
in Public Sector Unit (PSU). Your boss

comes and insults you in presence of
others. Besides that he promotes a
man, above you who is junior to you,
What will you do 7

(A) Resign from the post

(B) Trytotake the revenge when right
opportunity comes to you

(C) Keep patience and ask the reason
when you find him cool

(D) Tellthe complete incidence to the
management committee

34, FEmai V2,33, 43 i mad = 34, Uutnfthenumb&rs&1ﬁ 44 the
e largest number s
AT 2 W 2
®) % ® ¥
© ¥a © ¥4
(D) =i T § (D) All are equal
2.D e

[18]
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% €535 Yze £933
% FHI5I2 U524 BAFS 322842 3322 TAT0 7524 191334393 3510

35. 4t 5= 1 SE%e 154 =1 ; _ 22
Z R a5, Ifthe area of a circle by taking = = 3
T T T I 9iEm 2 is 154 square centimeter then its
perimeter is
(A) 33 Gt
(A 33 cm
®) e (B) 11 cm
(C) 22 %) {C) 22em
(D) 44 B (D) 44 cm
6. frgw (A) ABCH AB =643 HHl, 36. In trangle {4) ABC, AB =643 ¢m,
AC =12 4.1 q47 B = 6 H.HL T AC =12 em and BC = 6 cm then the
o ) a2 angle Bis
=L
(A) 120° SR
(B} &0°
(B) 60°
{C) 45
(C) 45"
{D) 90°
(D} 90° e e —

(¥ Scanned with OKEN Scanner
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37.

A S B

P 3 Q siem af @ # arR F |
R 3R Pimam i g f o 4
S 3 Qafeftare i G F = 3 |
A, 8 3 T Woeie 30 eatm § o

? 1w Y e feend oot d
e g g |

{A) Q@
By P
(G} S
L) A
qﬁaﬁa@ﬁﬂza+dzg+33—43ﬁ'{

2 dz4 aw (z—3) 5 ferrfir et
U S ST 2 7 e o A

(A) -1
B) 1

(C) -2

a7.

L B e

-

F and Q are good at Volleyball ang
Hockey. A and Pare good at Baseba)|
and -ankey. S and Q are good at
Volleyball and Cricket. 8, Sand Tare
good at Baseball and Football. Which
player is good in four games ?

{A) a
B} P
€} s

D) R

If bath the Polynomials

3
82" +4z% 4 374 any 2% ~dz 4 aleave

the same remainder when divided by

(Z—3) then the valug of ‘a'is
(A} -1
(B) 1

(C) -8

[20]
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35[

40.

frdft wrm W e PR T W e
0y T S B 10% F 7MW Fa 2 |
3t wE 1 AT W W W
38 whaer = &

(A) 20%
(B) 100%
(C) 120%

(D) 140%

fam 2

I PLQ#HIHARI
. RPFEAR I
S, T Wik &
T,Q#H ¢ |

V.

78 S fiTd 2

39,

40.

By selling a product at a particular price,
the profit to a person is 10%. If the
same product Is sold at double price
the percentage profit is

(A) 20%
(B) 100%
(C) 120%

(D) 140%

Given that :
I. Pisthe mother of Q.
Il. Risthe son of P.

Ill. Sis the brother of T,

IV. Tis the daughter of Q.

Then grandmother of Sis
(A) P
(B) Q
(C) R

Dy T

(¥ Scanned with OKEM Scanner
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41.

M a=3+2/2 71 p=_! 7§ a°+ b
Eakch .

(A) 36
(B) 34
(C) 38
(D) 342

T HE 42 R 07 Hen 44 79 5 e B

Teu o qvz-fam 4 famedi a0 =1 2011 & 2020
o fafim 5 wei wwd % (7w wirz = )
wt & | v w2 & fam o wve mm

41. If a=3+2V2 and b=\ thefi the
value of a° + b s
(A) 36
(B) 34
(C) 38
(D) 3442

Directions for questions 42 to 44 :

In the below given bar diagram the
expenditure of a state from 2011 to 2020 on
5 different items is shown (in thousand crore
rupees). For every item the shadowed bar

5 79 % &= W A pEnEA e 3y 5 ol
¥ ard =) caf § | shows the expenditure for first 5 years and
the unshadowed bar for the next 5 years.
3 55 53
G 50 50
" 45 >
1. 40 Z 40
s B &= 35
= ﬁ L~130
304 [ b
1 B Z &
0] Z 7
4 B e P
104 B Z Z
Z Z Z
] | ] e L~
L " ] [ > I—.—..I I—_.I..__l L i
P Q R ) T
42, W QUE T W 2011 - 2015 % 741 we 42. Total of the expenditures (in thousand

AW 2016 — 2020 ¥ §37 & &4 (g
wirg H) 2

crore) on the items © and T for
2011 - 2015 and on the item A for

g Emg; 2020 is
o o
(D) 100 (D) 100

2-D (2] 2
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43. T2 QT 2016 - 2020 # wWs, PW 43. Whatis the percentage increase in the
2011 —2015H =e o Frad W HAfimw expenses on item Q for 2016 - 2020
2 ovar the expenses on lhe item P for
2011 -2015 7
(A) 5%
{A) 5%
i 18 (B} 10%
(C) 15% (C) 15%
(D) 12% (DY 12%
A4, o e W 2016 — 2020 § B A=A 44, The total expenditure (in thousand
; 7 : crore) on all the ilems far 2016 — 2020
(I T ) 2011 - 2015 i gL i is marefless than that for 2011 - 2015
a7ftR /A B by
(A) 13 =4 (A 13 less
(B) 13 AT (B] 13 more
(C) 23%H (C) 23 less
(D) 33| (D) 33 less
45. ‘i % fem O % T Fefetan Es 45. Farwhichvalus of 'k’ will the following
i 7 & S B R A 7 pair of linear eguations have no
1 solutlon 7
REEYS Ax+ y=1
{2#—1]I+Ik—1}}’=2k+1 (2k—1) x+ (k—1)y=2k+1
(A) 1 (a) 1
(B) 3 (B) 3
(C) 2 Gy 2
D) 4 (D) 4
2-D [23]
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46.

v et iy W uhd snd i s R
5 M A1 Jrd m g Afm F anuw
# 12 vien i off wowle w gm | U
i S 3
(A} 7 Hier
(B) i3

(C) 17wtz

(D) 184t

46.

In a storm the top of a vertica| trag At
bending from a height of 5 matye frotg
the earth, meets the earth at 5 ﬂislar.,;E
of 12 metre inthe horizon from itg base
The height of the tree is

(A) 7 metre
(B} 13 metre
(C) 17 metre

(D) 18 metre

47. o i, faw % awm g femme 47, Alistener is Concentrating on the
ST I T e e “PPearance and dslivery style of ¢
Yo T 3 T A Ay 2 Speaker insteaq of the subject. In ths
“a5@ tha barrigy to listening is
(A) Foreerd e mgaey
(A) Jumping g conclusion
(E) ﬁwiﬁaﬁﬂﬁﬁﬂlhﬁﬁrﬂhﬁm
(B) Pfﬂjudging the subject
(C) Fam mon v gy
{C} Gﬂtharirlg only the facts
D) "En Sy (D
o ) Wrong g
[24]
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18, 7w Fiffaw wig (92 ©EA) 1,
GLAMOUR = WCNMWP férar = #
3t MISRULE =t OGUSSNG fera
T2, A 3 A ¥ TOPICAL

formay s

(A) VMRJECN
(B) VMRHACJ
(C) VMRJACJ
(D) VNRJABJ

49. U T 369 s afus R Bl g m

1 | T8 HE &
(A) 63
(B) 72
(C) &1
(D) 56

50. @ TME T A I H wE R 7

7

(A) 20
(B} 14
(C) 18
(D) 18

48.

49,

50.

If in a certain code, GLAMOUR is
written as IJCNMWP and MISHULE
I5 written as OGUSSMNC. Then
TOPICAL will be written as

(A) VMRAJECN
(B) VMRBHAC.
(C) VMRJACJ

(D) VNRJABJ

A number is as much greater than 36
as is less than 86. Find the number.

(A) 83
B) 72
(C) 61
(D) 56

How many squares are thers in the
given figure ?

N
N\
N\

AN
/

(A) 20
(B) 14
(C) 18
(D} 18

2-D

[25]
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In sequences of cricket matchg,

E ., . e E .!.I - % 51.
o e e 1 Wasat Indies defeated New Zaalang
# 4 =X wE, W A HEE w3 N, 4 times, India defeated Mew Zealany
arefem 3 Smdds W3 AW EwE | 1 times, Australia defeated West Indjg,
. . ' . 9 times. West Indies defeated Indiy
ITE T ] TR W/ ST 8 | Wi 9W ance. The country which lost most g
e =r S the times is
(A) India
(A} WA
{C) =gatets () New Zealand
(D) AT (07 Australia
52. i 10 Tl g & s = 2 ) 39 52. Sohan walks 10 Km East. Then he
g 98 AT g AN g2 A 8 N turns right and walks 15 Km. Then he
15 Ferft =eten 8 | T: 98 9T TR 3 further turns right and walks 10 Km.
10 foerd) =rren | 55% 412 9% 13 9K Then he tums left and walks 20 Km
Ly Inwhich direction and how far away in
:I:E =TT 3 3 %ﬂﬁm"t Tqﬂ 2 kS Kim is he from his original position ?
Ui = E ] ™
sn B s F 8 7
(&) 25 Km Narth
(A) 25 fpdi am
(B} 35 Km South
(B) 35 fedt gigm
(D) 35 el 7 (D) 35 Km North
2-D [26]
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53. AH 3 B H 3w ¥ 25% Al &, @ 53. A's income is 25% more than the
income of B. Then B's income is what
B s AH 3T | Fre sfaw w9 R 7 percent less than the income of A 7
(A) 10% (A) 10%
(B) 15% (B) 15%
(C) 20% (C) 20%
(D) 25% (D) 25%

54. Tl =i 1 weis 4o I FAE A 26% | 54, By anincrease of 25% in the length of
%1 gfg =01 T 3w gawa 1 wiweE gfe each side of a square, the percentage
Uil increase in its area will be
(A) 25% (A) 25%

25 25
B) —% B) =24
() 16 ©) 16
(C) 40.5% (C) 40.5%
(D) 56.25% (D} 56.25%

55. ufa =fad A, B, C, D 3% Evs g9En 55. Fivemen A, B, C, Dand Eread a
7 Ygd & | 5 oed TEe Tem £ 9R @ newspaper. The one who reads first
CwF 3 R | 9 R A & ve T gives it to C. The one who reads
- - last had taken from A. E was not the

A first or last to read. There were two

TR B AT AN Qe A readers between B and A, B passed
B w7 el fean 7 the newspaper to whom ?

(A) A (A) A

(B) C (B) C

(C) D (C) D

D)y E (D) E

2-D [27]
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56. IR a b coft R # 3l (a+ be D=0 56. If a, b, ¢ are all non-zero ang
ﬁi+£+£iﬂm% (@ + b+ c) = 0 then the vaiyg
bc ca ab 2 B ct
_-_+_-+_|'_:| IS
A) 1 bc ca a
(A) 1
(B) 2
(B) 2
(C) 3 ©) 3
D) 0 (D) O
57. aﬂiﬁﬁ
Lk T Rem i g 2 57. How many squares are there inthe
given figure 7
sl (A) 18
(). 14 B) 14
o B © 10
®) 9 (D) o
2-D - —-"’/
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58. A B.C, D E¥n F =Sty # | = o
& =5t wid v & W % T R g wh
+1 =l v A WE 6 U @ R
qea & | TEE g 17 9 w1 § S wew
smE22aiw d | Famd Baln D%
dfesdd AwmdBaesme I CwmH
DR mE | A cagmd | T

(4) D, 20=d %12
(B) Fissdi=i 2
(C) F,19=d =12
(D) F,20H %1 #

59, 4% vk v = e whowm 2 7
(A) 4%
(B) 0.4%
(C) 0.04%
(D) 40%
60. %ﬂﬁhﬂ,m,w,._.%ﬁmﬁwﬁmﬁﬂ
78 EMM 7
(A) 512
(B) 7114
(C) 4713

(D) 6410

A, B, C, D, E and F are cousins. No
two cousins are of the same age but
all have birthdays on the same date
of the same month. The youngest is
17 years old and the oldest E is
22 years old. Fis somewhere between
B and D in age. A is older than E.
Cis older than D. A is one year older
than C. Then

(A) Dis 20 years old

(B) Fis 18 years old

(C) Fis 19 years old

(D) Fis 20 years old

What percent of one rupee is 4 paise ?
(A) 4%

(B) 0.4%

(C) 0.04%

(D) 40%

Sum of how many terms of the series
24,21,18,...is78 7

(A) Sor12

(B) 7or14

(C) 40r13

(D) Bor10

2-D

[29]
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61. SR P, QR 8 T uUEiQamT | 61. Therearesixplaces P, Q. R, 5 7
Wi o 8 & ) P oot O vw R and U. @ and T are not historics)
HRiPsifRadmadi &) Sa places. P and Q are not alike, pig
enfifes v T R | P i S Wferls not a hill station. S is not a religinys
TR | R D m i e E place. P and & are not historical

places. Which two places are
(A) P3O religious places 7
(A) Pand Q@
(B) Tawu
(BY Tand U
[
G} s (C) Rand §
(D) Q3R U (D) Qand U

62. ©s T # o faww =m 1 4.6, 3k 62. A copper rod of diameter 1 cm ant
w8 /.4t &, § 18 Wt wmm 9w v length 8 cm is drawn into a wire ¢
O W w1 AR S W6 2 | 9 6 length 18 m and of uniform thickness
i B i then the thickness of wire will be
A - & ) =
'ql ] ED Ll { } =— Cm
(B) — . (B) - ¢

15 Tl
(C) P © L
85 20 ™
1 1
(D) = |4, (D) 5 om
2-D

[30]
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63. s Am X, Y, Z3 w Hfim g m 63. Fourcities X, ¥, Z and W are connected
mgqnqﬁaﬁﬂ;ﬁﬁﬁmrﬂqﬁgm:ﬁﬂ by differant routes and different modes
ﬁﬁ‘ﬁﬂi of transport as given below.

| X3 Y v 9w\ 2W g I. Xand ¥ by both boat and bus
I Y3l W e R g IIl. Yand W by air only
I, Y Z fame g ag g

lll. Yand Zby air and bus
V. X3 W e %6 g

by b ni
V. X3 Z %ad 9 g V. Xand Wby bus only

V. Xand Z by train only

Y& W A% SR-E ° 5N B AR
FH W FH 3 -3 IO S I Which route would be possible from
w7 ¥ 1o W so that atleast 3 different modes

can be used 7

(A) ¥Y-X-Z2-W
(A) Y=-X-Z2-W

Lt ] (BA-Z-X-W
C) Y-Z-Y-W C) Y-Z2-Y-W
(D) %78 § =I5 T (D) Mone of these
ot 64. |fa:b: c: dthen the value of
64. ﬂﬁa:b::c:dﬂﬂﬁwqﬂ%
h* —d g _pt i
b —d'
(A Pl
bd
(A) /H,‘j

b?
B8) b/ ® v,
(€ 2, - ©) acf,

© % (o) 89/

2-D i Bt iSainl BN ;|
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. difference in ages of twg :
65. @ Tl F 31y i 20 7 T A # B8 e Boys
! 20 years. Five years ago, the age of g
5 H& -@. qé m ﬁ- a:ﬂﬂ ﬁ ﬂga" bﬂy is five times the age Ufﬂ"‘:’uﬂgerml,
H A F 5 Tt | 3t S T, Their present ages are res;:e-cmehj.
AT %
A} 30 vyears, 10 years
6 20, 10T o
(B) 258, 54 {B) 25 years, 5 years
(C) 29+d, o=y 4 (C} 29 years, 9 years
(D) 40+, 20+ (D) 40 years, 20 years

T T 66, 67 3 68 3 Fau iy

ﬁﬁmwﬁﬁ%%mmﬁaﬁ
ﬁﬁﬁa@ﬁmﬁﬁqmmmﬁﬁﬁﬁm%
T FEAA W T 9,000 =4 7Y £ |

- Directions for Question Nos, 66, 67 and 6
The following Pie-chart represents th
amount spent on different sports by a scho

administration in an yéar and the money spe
on football js 8.000.

B6. ﬁﬁmwﬁﬁmmmf‘wm

66. i
BATE 7 S EDW Mmuch More amount is EF"E““E
(A) T 11,000 ockey than on footpall 7
| ) T 14
(B) 12,000 i; 000
(C) 713500 {D} 212,000
(DY ¥ 14,000 (C) ¥ 13,500
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67.

wofi Well W g He o
(A) ¥ 84,000
(B) ¥ 72,000
(C) ¥ 60,500

(D) % 55,000

forhe W g = #
(A) ¥ 30,000
(B) ¥ 31,000
(C) 31,500

(D) % 32,000

ufg #l & FE 4 K, L 3 M AEearhiE
£ IM NI ASEELE ; L M3 N

afgmm # s K, Na Ritgdt € | &
HE H © *F A1 HEad! 3R 7 wgearmiaE’
=fa 2

(A) Tae K x
(B) L3 R
(C) M3t N

(D) *e ¥ =g Tel

67.

68.

69.

Total money spent on all the sports is
(A) T 84,000
(B) ¥ 72,000
(C) ¥ 60,500

(D) % 55,000

Money spent on cricket is
(A) ¥ 30,000
(B) ¥ 31,000
(C) ¥ 31,500

(D) T 32,000

In a group of five people K, L and M
are ambitious. M, Nand R are honest.
L, M and N are intelligent, K, N and
A are industrious. Out of this group
the person(s) who is (are) neither
industrious nor ambitious is (are)

(A) Only K
(BY Land R

(C) Mand N

(D) None of the above grou :
T e
M TR [.Eﬂllﬂm.ﬂ.mﬂ' :

(¥ Scanned with OKEM Scanner




70. ‘=eEre & aerE gm 73, "HETEW % E-HEElL, =N wm
T, =T A TE- AR, T O % i
(A) =R T (1" S T o I AT we
isR-mme
(B) = (A} T T
() = (B) it 18
) dnw
(D) =R
(D) I T
71. TR 9= FI TAE0 74, I T B ST H AT w0 A
(A) = (A) e
(B) = (B) waw
(D) ald D)
L. T # aw & fem uan ¢ 75, AT # o &
(A) @ (A) am
(B) ¥ (B) 7
(C) =W (C)
(D) i (D) 3wtterm ¥ A g =l
E-DI |
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76.

78.

FA-W A IAE R 7

(A) ST FET F IR s
ety |

(B) i srqaw &1 3w vidw
fetiay |

(C) YT F=aW H1 I H4H
fefam |

(D) I FEA F I HNw
Teaftay |

f#ﬂﬁhﬁEHiEiTﬂﬁﬂﬂ¥ﬂ?ﬁilbﬂﬂ:
HEgA -] & e W R 7

(A) Fu=rE
(B) irsa-mme
(C) ufa-35m

(D) SrmER

ot eg ‘A’ @ Wy 8
(A) T

(B) =

(C) =

(D) e

79

a1.

FI

. WR-m A g R 7

(A) =% T 99 T3 4= 9 # |
(B) =% #0 =g =3 WA 2 |
(C) o8 ¥ ¥ Wil 2 |

(D) =& T 39T =2 W # |

= 1 g § g % e v E 7
() 01
(B) 02
« 03

(D) 04

LECER R
) e
(B) =t v
& = awr

(D) wesiife wwmm

[25]
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82, oMt v Wl 3 s w Sl frf | 86, ‘ufigen we i e
T Taften fE =) wmm ow ) aEa ¥ ;
' (A) 3F
1 1wt faen
(A) 15 20m@ 1947 & ¥
(B) 14 fmiam 1949 =1 ()
(C) 26 st 1950 i (D) ¥
(D) 267951 1949 =
86. Trm 9 o yfqgmom & ¢
83. ‘408 = wdwmml § = fay (A) HiE wEdl H |
q
A @ i
(A) =1 =9 T| = {B) =Te T ==kt a7 |
= S ==
: oy #:%*E iz w37
(C) =17 =hA HE &I ; i
(D) 9 o O % a6t
(D) = 8 =7 75
B7. 3w a1e & form el eppa—an o
- i
@ FH W, B S el W Ry e
. (A Wi
(4} =ie
{B) ] ® P
© fa (C) g
(D) Tafen ) R
2-D [36]

LI+ 2y

(¥ Scanned with OKEM Scanner



o

88. HIT =9
o 91, =nfaErTs oa 2
LE} s {.":"-}I 1 _;'.-'ﬂ&l
(C) 7,9, %8 9,7 ° dﬁ_

D) 9, %, 7,99 o

@ (D) 3 Yol
BT
i} &g w5 o #
ey 92, '@ T TR
o ﬁ EE|! ‘F‘afa % P
(B .
- (A} 91
{C) =HHH
(B} udE
{0y Taare w2
(Y =220
90, o g |
:EFT_:;:TT F fow frm A T
? -
93, ‘gfeEr
| T, H W FE 8 R
A 1 )
s EETE ¢ ) "
o (A) T =R HIED ﬁim
. (B) g g w6
| o (C) =il 9w aw=
- (D) =Rl
.. | 11 7
g?“ﬂue_wﬂ ey TR il —
| Y
.,fﬁ,u |TE_
ES

Qb scomnedw '
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94,

95.

T T = 2 or # Bm Rl =
HTEW F9eEy |

(A) =

4By TEEm

(C) =umm

\D) ==

e 3 ol & e 2
(A} g

B) s

(C)

AD) w=a

22 TS 2018 I Welteg T W
T AT o AR % R T
Tl AR el e e e
gl o % fow, ) wmn -
st s Tl % 52 aoil ) 7y
FEA wQ w1 W Wl A e
L I

(A} T
(B) s
(C) wTeE

iz Ty

U"‘%
97. W4 3 =R H At uin g 5
(A) T T ERY
(B) T T wiy
(C) Fig w=n dfu
(D] swnfs T wi

98. ‘Twm = wafrE %
(A) g :
(B) T

(C) e

D) W=

99. ‘T Sl fEw sty & A
AT B 7

e it
(B} A
(C) &
(D) FEgmfem
100 mﬁgmﬁﬁﬁﬂ%
) e
() =
(C) el
(D) e

=
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